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Cevap: D
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9
171.18.19.36! _ 18.19 _ 9
361.37.38. 171 37.;3;? 37
Cevap: A
(n—1T.n.(n+3)1.(n+4) _ 45
(043 (n—1)1 B
n.(n+4) =45
\
5
n=5
Cevap: B
1 1 1 3
all-2)_ara
45 45
51 !
_1.3 5/ 135431 1
T3 4 457 3. 445 3
Cevap: C
#(65-5).(5+1).4
A =25.6
=150
Cevap: D
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9. abeZ’ 4o (101+9D.(101-91) 91(10+1).91(10—1)
61451+ 4l=29p 91(11.10-10—-1) 91.99
41(6.5+5+1)=2%b _9Lug
41.(30 + 5+ 1) = 2°b 99 '
41.36=2%b Cevap: A

1.2.3.4.(2.3)2=2%b
1.2.3.222232=23p
2527=2p = a=5 ve b=27
O halde a +b =5+ 27 =32 bulunur.
Cevap: E

(8P — (712 (8!-71)(8!+7))

10. “gr—gr—71 = 71(9.8-8-1) -
(-3
S
_A(8-1)7(8+1) 7.7.9 ;
T A(72-8-1) — 68 N
=
=7! S
Cevap:B’ﬁ‘
P~
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1. (n—1)!+(n3+1).n.(n—1)! =120
n°—1
(n=1)!(1+(n+1).n) _
(n=1).(n?+n+1) =120
(h— )12 +mT1) 120
(n—1).(02+mF1)
(n—T1).(n=-2)!
—M =120
(n-2)!'=120 = n=7 bulunur.
Cevap: B




